mS/m

mS/m

mS/m

mS/m

10/13 10714 10/15 ,o‘IG7‘.1.~6‘ 10717 10/18 10/19 10/20 10/21 10/22 10/23 10/24 10/25
\d £y

0 K 5 I 30
3 1 20
. W/\\/r\ | .,
° O S — 10
12 - -10
22 T T T T 20
| | | |
~—~————————— | | |
N ——]
18 | l l ‘ ‘ 1 16
| | | |
;W_H_/\/L_; | | I R |
Y S\ /—/—"—r—'_’J | IR
14 ‘ ‘ } ‘ 12
,,,,,,,,,,,,,,,,,,,,,,,,, Lol _______ ] —6loEC —619 |-
| | T T
10 - } - } . . | . | . 8
10/13 10/15 10/17 10/19 10/21 10/23 10/25
36 T T T 20
77777 Ly Lov g —s888(C )EC |
i S [ i —888; ;
32 | ‘ 1 q 16
oL ______ R R N B
| _-r/\ % | | |
| » b | | |
28 ‘xsj KH/\NW—V—;W 12
F | H |
| % K | | |
24 } . } : 8
10/13 10/15 10/17 10/19 10/21 10/23 10/25
26 T T T T 20
| | | |
[ | | | |
| | | |
22 F | | | P 16
| | | |




3-3.
¢))
-3.3.1
2
-3.3.1
3
3
3
3
1
2 (1979)
(1995)
20
3 -3.3.1

200 m? > > 0.2

18

6,000
11,000
400

3 x< 20
3 %< 20

8 %< 20

200 m?

-48 -

20

1,200 3
2,200 8
80 8
(1994)

20%



-3.3.1

'n\gth I“Lff@“ﬁﬂﬁﬁ&ﬁfﬁ =
*-Fqﬁmmﬁfﬂmﬁlﬁﬁ§35015m2f

At - M
'.‘}\/ G T S

1,200

2,200

80

3,480

=49 -



2 1986 2005

@)
1,600mm/ 750mm/
( )
( ) x<
150 8 (1.6 /7 *? 0.75 / %)
-3.3.2
(1999)
itz IR IE [
Sl e AILHE 0.75~0.90
=$ChE L 0.70~0.80
ko & 5 s kol 0.50~0.75
L OSE S IE b 0.45~0.60
Allittch o7k H 0.70~0.80
L )1 0.75~0.85
SEHb RN 0.45~0.75
0.50~0.75

it T LL EASEHT & B AFNI

2

-50 -

)



-51 -

( -3.3.2 )
-3.3.3
3y )

%' : 20 =

D = S

Al Il XBIERRETDS

"F‘ﬁ‘llﬂ*ﬂﬁlgﬁfﬁtﬁ Eﬁ 3505 m?

-3.3.2
80,000

70,000 ] WAD)
’ H3 19,781
~ 60,000 | ] — H6 70,577
~ - H7 71,409
“= 50,000 [ H8 44,734
~ (] Ho 25,106
40,000 e L L] Hw 33,131
30,000 H11 25,106
H12 39,934
20,000 H13 61,625
H14 58,392
10,000 | H17 50,879
0 45,516

H3 H6 H7 H8 H9 H10 H11 H12 H13 H14 H17

-3.3.3
( -3.3.4 ) (20mm/ ) 1
Gomm/ ) *! ( ( 26
25 ) 123 )



« 3/ )

« ¥ ) (mm/ ) = 1,000 > >
27,000 ( ¥/ ) 20(mm/ ) <+ 1,000 >< 123 > 11,000( 2) -
44,000 ( ¥/ ) 30(mm/ ) = 1,000 > 123 > 12,000( 2) -

2.7C ¥ ) 44 ¥ ) « ¥)
[ RS
! &_; e '..‘ L
! I-EE. .E=-. _: '1
D G
.;:Qr'ﬂg';
hel Ik
o irt

'

b i,

g e
.!“I"‘ = Wy
(=]

EETNEE]

.5.- L] I'l '_'l':l‘

et
i
i,

gul o

(mz) 34,000 19,500 11,500 20,600 40,100 10,800
(mz) 7,220 900 0 6,030 2,290 0
(%) 21.2 4.6 0.0 29.3 5.7 0.0
(mz) 17,000 14,000 7,500 4,000 28,000 17,000
(mz) 3,610 646 0 1,171 1,599 0
(mz) 10,830 1,546 0 7,201 3,889 0
12,000 11,000

()

-3.3.4
( 3/

3/ ) 12¢ 3/ ) « )



-53-

©)

( -3.3.5 ) 17 9 31 10 1 ( ) 121 2 ( )

18 26 7 ( )

2 6 7

> > |2 > >
(I)(I)(II)(I)(I)
~N | W (N[

1
OV |OT|W (=

Clolclc|lcle|lclae

TS
P
[SNIS)

—
]
N

mmulsmm
ﬁmm#QJH

1= (===

. AL ) =
DN P AR Ly « (3 AB-6" - 500
CEH s AN oA D T .k,/s \ AR



D

7/ )

( -3.3.6

)

(ds)

A qa. m3/
A= A
B Qs M3/
B = 'B- 1 2
A A M3/ /[km?

g M3/ /km?2

Se)

-3.3.6

-54 -



-55-

AS-1 AS-3

-3.3.7 )

(

A
[H17.9.31 10.1

200

AS-2 AS-3 AS-5 AS-7

AS-1

, |
|
T
|
| i
|
|
|
|
|
|
|
|
|
|
|
e el
|
|
|
|
|
|
|
|
|
|
| i
|
|
|
|
|
[—
|
|
|
|
T A A
! N
| —
|
| —
, o~
! —
b~
C T
[ S—
L L
o o o o
o o o o
< N

o0} o
uni/ /W)

AS-2 AS-3 AS-5 AS-7

AS-1

-3.3.7



-56 -

AB-6

| H17.9.31 10.1

AB-5

)
AB-4

-3.3.8

(
AB-3

77777777777177777777777[77777777777777777|H17.12.l 12.2

N
1

AB-1

00
200

AB-4 AB-5 AB-6
-3.3.8

AB-3

AB-1




-57-

u-1 U-8

-3.3.9 )

(

H17.9.31
10.1

1600

u-10 U-11 U-F

u-5 U6 U7 U8 U-9

|

u-3

|

u-1

H17.12.1

12.2

e e e

o ——— -

l

101

Inh

I

1600

21200

800
400
0

N~
o
S
=

u-10 U-11 U-F

u-3 U5 U6 U7 U8 U9

U-1

1600

U-10 U-11 U-F

u-3 U5 U6 U7 U8 U9

u-1

-3.3.9



-58 -

-3.3.10

)

-3.3.11

(

(

)

(D)

10

-3.3.

358

-3.3.11



-50 -

2)
30 10 4,400 3/ 12
2,240 3/ ( -3.3.3
-3.3.12 )
-3.3.3
m/ m3/
9 30 10 1 12 1 2
AS-5 4,000 AS-5 2,400
AS-E -220 AS-E -10
AS-D -30 AS-D -10 -
AS-C 0 AS-C -360
AS-B -120 AS-B -60
AS-A -30 AS-A -220
AS-3" 1 -1,300 AS-3" -1,300
_ AS-2" -1,100 _ AS-2" -1,300
AS-1 1,600 AS-1 2,100
3,600 -800 1,740 -500
C - ) 4,400 ) 2,240
1 12
|As-A|As-B| |As-D| [As-3| [AS-E] <—
O
[ o «
<o «

-3.3.12




- 60 -

10 5,100 3/ 12
5,490 3/ ( -3.3.4 -3.3.13
-3.3.4
m3/ m3/
9 30 10 1 21 2
|
AB-4 5,800 AB-4 4,600
AB-2 -1,000 _ AB-2 -110 _
AB-27 -3,400 AB-2" -3,400
_ AB-1 3,100 ) AB-1 2,400
4,800 -300 4,490 -1,000
5,100 ¢ - ) 5,490

12

<[] [ <
™~ ™~
AB-4
O
@ )
+—0 )
-3.3.13
10 4,610 3/ 12

2,080 3/

3,990 ¥/ ( -3.3.5 -3.3.14




-61-

-3.3.5
mé/ m/ mé/
9 30 10 1 21 2 6 7
U-9 220 U-9 100 U-9 170
U-D -400 _ U-D | -340 ~ U-D -40 _
u-C -130 U-Cc | -170 U-Cc | -240
U-B |-1,100 U-B 0 U-B -50
U-A -300 U-A | -170 U-A | -630
U-1 |2,900 U-1 |1,500 U-1 |[3,200
-1,710 2,900 =580 1,500 -790 3,200
-4,610 « - -2,080 i -3,990
C )
« )
-3.3.14
365
-3.3.6
-3.3.6 ( )
3
120 190 130 60




-62 -

©)

15

13

3/(

24

3/

Vi

17

)

-3.3.15

(

b

i

ik
i

Lo

Y S
Sy el

= X 11

i

-3.3.15

200

H12

3.7

300L(

%/

50

¥/

(365 )

) = 1,000 x<3.7 >x< 0.5 < 365 > 200

x(0.b5x

)=+1,000><

L/
300(L/

)

¥/

40,000(

3/

28



®)
1)
-3.3.16
60 8
560 m3/
P——— o
| "
=
1 1l
= 2 4
60 m%/

-63-

150

2,200 m?®
in 633 m3%
(560 m3/ )+ 60 m3/ )+ 12 m3 )
out 633 m?¥/
(260 m3/ )+ (150 m3/ )+ (195 m3/ )
+ 24 m3 )+ 4 m3 )

-3.3.16




2)

162

162

Ty
-....
L2
.

-3.3.17

(

-3.3.17

)

3,480

60

3

-64 -



